MATHS

BOOKS - SELINA MATHS (ENGLISH)

GEOMETRIC PROGRESSION

1. Find which of the following is a G.P.:

[ o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_UpBfki1KWRkM

Find which of the following is a G.P.:
4

2.
1 2 1
3’73’

o Watch Video Solution

3. Find which of the following is a G.P.:

o Watch Video Solution



https://dl.doubtnut.com/l/_UpBfki1KWRkM
https://dl.doubtnut.com/l/_dU8XVsgINPxa
https://dl.doubtnut.com/l/_EfrMq5DyYlvN

4. Find which of the following is a G.P.:

Ty, T2y, Y, .

o Watch Video Solution

5. Find the 8" term of the geometric

progression : 5,10 20,.........

o Watch Video Solution



https://dl.doubtnut.com/l/_BqqfRSwM1jNW
https://dl.doubtnut.com/l/_dzVzUox2Zhbh

6. Find the 19" term of the series

1 1

¢3+\/§+3\/§+ ............

o Watch Video Solution

7. If the first two consecutive terms of a G.P.

are 125 and 25, find its 6" term.

o Watch Video Solution



https://dl.doubtnut.com/l/_mdJv9pPswrHA
https://dl.doubtnut.com/l/_abPx12oOkQhT

8. Find the next three terms of the sequence :

o Watch Video Solution

9. Find which termof GP.3 — 6 + 12 — 24 + ..

o Watch Video Solution



https://dl.doubtnut.com/l/_NXsP7j6LIu8I
https://dl.doubtnut.com/l/_YD4nDOy8Yewp

10. find the G.P. whose 5 term is 48 and 8"

term is 384.

o Watch Video Solution

11. If the 3™ term of a G.P. is 4, find the product

of its first five terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_8KPpy20EULxx
https://dl.doubtnut.com/l/_xAzp8kZrCvI8

12. The first term of a G.P. is 1. The sum of its

third and fifth terms of 90. Find the common

ratio of the G.P.

o Watch Video Solution

13.If the 4™, 7" and 10®" terms of a G.P. are a,

b and c respectively, prove that : b* = ac

° Watch Video Solution



https://dl.doubtnut.com/l/_xHISazXGmowg
https://dl.doubtnut.com/l/_QAHHqYUD0cEG

14. If the p'",¢"and r"terms of a GP are a, b

and o respectively. Prove that

al” "y PP =1,

o Watch Video Solution

15.1f a,b and c are AP. whereas x,y and z are in

G.P.:

Prove that : 2?7 ¢ . ¢¢~%. 2%~ 0 — 1,
Yy

o Watch Video Solution



https://dl.doubtnut.com/l/_1bXkZE6kIv7x
https://dl.doubtnut.com/l/_PILm1kzz7NPX
https://dl.doubtnut.com/l/_gLRHrdtYJddI

16. Find the sum of 10 terms of the series :

96 —48 +24.......... :

o Watch Video Solution

17. Find the sum of 8 terms of the G.P. :

3+6+12+244...........

o Watch Video Solution



https://dl.doubtnut.com/l/_gLRHrdtYJddI
https://dl.doubtnut.com/l/_ARRzLJGSvGno

18. Find the sum of the geometric series :

1

1 . ! to 12t
- SIVEIrCARREREEEEE upto erms.

o Watch Video Solution

19. Find the sum of 10 terms of the geometric

progression :

14+4/3+3+3/3 4.t

o Watch Video Solution



https://dl.doubtnut.com/l/_vuCIKnQnOyui
https://dl.doubtnut.com/l/_reUHCsftmv28

20. How many terms of the G.P.

2 1 1
5, — §, CXRRRREEREREE must be added to
t th | t 55
m
get the sum equal to — 72

o Watch Video Solution

2. Find the sum of the G.P

24+6+184+54+......... + 4374.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZpWvnG8BhUXc
https://dl.doubtnut.com/l/_RHBJAyvgSOW8

22.A G.P. has first term ¢ = 3, last term [ = 96
and sum of n terms S = 189. Find the number

of terms in it.

o Watch Video Solution

23. Find the geometric mean between

3and 12

o Watch Video Solution



https://dl.doubtnut.com/l/_81KQkpaV3C3F
https://dl.doubtnut.com/l/_PkFNmNtvxnjo

24. Find the geometric mean between

3 and 243.

° Watch Video Solution

Exercise 11 A

1. Check whether the given sequences form a

G.P.or not:

8,24,72,216,.........

o Watch Video Solution



https://dl.doubtnut.com/l/_qv4LoIIenneP
https://dl.doubtnut.com/l/_of0TCalffrSK

2. Check whether the given sequences form a

G.P.or not:
1 1 1 1
S o4’ 7 91g’

o Watch Video Solution

3. Check whether the given sequences form a
G.P.or not:

912,16,24,............

o Watch Video Solution



https://dl.doubtnut.com/l/_of0TCalffrSK
https://dl.doubtnut.com/l/_EwQrekvB4xri
https://dl.doubtnut.com/l/_Rvv6SITsa97B

4.Find the 9" term of the series :

o Watch Video Solution

5.Find the seventh term of the G.P.:

1,+3,3,3/3....cc......

o Watch Video Solution



https://dl.doubtnut.com/l/_sw4pbfsNUbLM
https://dl.doubtnut.com/l/_EDUFBtMi96a2

6. Find the 8" term of the sequence :

3 .1

— 1=,3, ...l
47 2737

o Watch Video Solution

7.Find the 10" term of the G.P.:

o Watch Video Solution



https://dl.doubtnut.com/l/_QXUGTGv1N4Go
https://dl.doubtnut.com/l/_jWzXWYhduGdw

8. Find the n'" term of the series :

o Watch Video Solution

9.Find the next three terms of the sequence:

o Watch Video Solution



https://dl.doubtnut.com/l/_X1pVyVZApDIG
https://dl.doubtnut.com/l/_M5aig2npm2yc

10. Find the sixth term of the series :

o Watch Video Solution

11. Find the seventh term of the G.P.:

V-1

3+ L1, ——— .
\/3—|—77 2 Y

o Watch Video Solution



https://dl.doubtnut.com/l/_KbKYAnIzvXjt
https://dl.doubtnut.com/l/_TBzpjYH4vzbx

12. Find the G.P. whose first term is 64 and next

term is 32.

o Watch Video Solution

13. Find the next three terms of the series :

o Watch Video Solution



https://dl.doubtnut.com/l/_SFVbliQUbjJD
https://dl.doubtnut.com/l/_1suIK8Yvcdw6

14. Find the next two terms of the series :

2—64+18—-564.............

o Watch Video Solution

Exercise 11 B

1. Which term of the G.P.:

° Watch Video Solution



https://dl.doubtnut.com/l/_lgbru6FnRwK8
https://dl.doubtnut.com/l/_QiUTd27DSUP7
https://dl.doubtnut.com/l/_Q5DfRTmxNSiA

2. The fifth term of a G.P. is 81 and its second

term is 24. Find the geometric progression.

o Watch Video Solution

3. Fourth and seventh terms of a G.P. are 18
1

and — 136 respectively. Find the G.P.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q5DfRTmxNSiA
https://dl.doubtnut.com/l/_qhi5jtUAmZ2V

4.If the first and the third terms of a G.P. are 2

and 8 respectively, find its second term.

° Watch Video Solution

5. The product of 3™ and 8™ terms of a G.P. is

243, If its 4" term is 3, find its 7" term.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZaDp5ZkFZySW
https://dl.doubtnut.com/l/_fVsvyHQ8dMng

6. Find the geometric progression with fourth

term = 54 seventh term = 1458.

° Watch Video Solution

7.Second term of a geometric progression is 6
and its fifth term is 9 times of its third term.
Find the geometric progression. Consider that

each term of the G.P. is positive.

o Watch Video Solution



https://dl.doubtnut.com/l/_ku1RNeMzpxh3
https://dl.doubtnut.com/l/_TO8jYVHAqJba
https://dl.doubtnut.com/l/_bMgMxKgIuffR

8. The fourth term, the seventh term and the
last term of a geometric progression are 10, 80
and 2560 respectively. Find its first term,

common ration and number of terms.

o Watch Video Solution

9. If the fourth and nineth terms of a G.P. are
54 and 13122 respectively, find the G.P. Also find

its general term.

o Watch Video Solution



https://dl.doubtnut.com/l/_bMgMxKgIuffR
https://dl.doubtnut.com/l/_bhlHQPSHWVMs

10. The fifth , eighth and eleventh terms of a
geometric progression are p,g and r

respectively. Show that : ¢* = pr.

o Watch Video Solution

Exercise 11 C

1. Find the seventh term from the end of the

o Watch Video Solution



https://dl.doubtnut.com/l/_wOW8aj3PvQqe
https://dl.doubtnut.com/l/_02k9QAaDcSlx

2.Find the third term from the end of the G.P.
2 2

2 162
7 g g , 162.

° Watch Video Solution

1 1

.For th P—, =, —
3.For the G 5779’ 37

find the product of fourth term from the
beginning and the fourth term from the

beginning and the fourth term from the end.

o Watch Video Solution



https://dl.doubtnut.com/l/_02k9QAaDcSlx
https://dl.doubtnut.com/l/_uq5T3OeTIf9s
https://dl.doubtnut.com/l/_JWGeUz1Nf1zE

4.1f a, b, and c are respectively, the pth, qth

and rth terms of a G.P, show that

(g — r)loga + (r — p)logb + (p — g)logc = 0.

o Watch Video Solution

5.1f a,b and c are in G.P, prove that log a, log b

and log c are in AP.

° Watch Video Solution



https://dl.doubtnut.com/l/_48UsfJnB06Al
https://dl.doubtnut.com/l/_REMlzcCqdy5s

6. If each term of a G.P. is raised to the power x,

show that the resulting sequence is also a G.P.

° Watch Video Solution

7.1f a,b and care in AP.axb are in G.P. whereas
b,y and c are also in G.P. Show that : 22, b*, y*

are in A.P.

° Watch Video Solution



https://dl.doubtnut.com/l/_q6asf1xsGOnZ
https://dl.doubtnut.com/l/_DOpuuQxxEtay

8. If a,b,c are in G.P. and axb,yc are in AP,

prove that:
1 N 1 2
x y b

o Watch Video Solution

9. If a,b,c are in G.P. and axb,yc are in AP,
prove that:

24Z=n
I

< | o

° Watch Video Solution



https://dl.doubtnut.com/l/_M9oxwoMnDpnD
https://dl.doubtnut.com/l/_VI69od0jvyCK
https://dl.doubtnut.com/l/_mtgCEq9qJ4cz

10. If a,b and c are in AP. and also in G.P,, show

that:a = b = c.

o Watch Video Solution

1. Find the sum of G.P.:

1+34+9+27+....... to 12 terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_mtgCEq9qJ4cz
https://dl.doubtnut.com/l/_yPwxQvZKmc9w
https://dl.doubtnut.com/l/_2zlitmpLpndv

2.Find the sum of G.P.:

0-3+0-03+0-003+0-0003+.......

to 8 terms.

o Watch Video Solution

3.Find the sum of G.P.:

to 9 terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_2zlitmpLpndv
https://dl.doubtnut.com/l/_sH5F11BR5GBT

4. Find the sum of G.P.:

1 1 1
l—- -+ — — — + ... .. ... to n terms.

3 32 3

o Watch Video Solution

5. Find the sum of G.P.:

r+y r—y

+ 1+ + ... upto n
T —y T +y P
terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_NYNWBpNSnDWj
https://dl.doubtnut.com/l/_mjHsAnsxSYby

6. Find the sum of G.P.:

_ 1 1
V3 + + + o to n terms.

V3 33

o Watch Video Solution

7. How many terms of the geometric
progression 1+444+164+64+........

must be added to get sum equal to 5461 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_VME6BUzWKQv7
https://dl.doubtnut.com/l/_jlk0nc4IVDBf

8. If the first term of a G.P is 27 and 8th term is

3T then the sum of its first 10 terms is (i)

27 1 . 81/ 1
- (1 - @) (i) — (3T0 - 1) (iif)
27 (1 .8l 1

7 )5

o Watch Video Solution

9. A boy spends Rs. 10 on first day, Rs. 20 on
second day, Rs. 40 on third day and so on. Find

how much, in all, will he spend in 12 days ?

o Watch Video Solution



https://dl.doubtnut.com/l/_YITfpWlnYg0q
https://dl.doubtnut.com/l/_UrxKzR2CIlbI

1
10. The 4" and the 7" terms of a G.P. are o>

1
and 29 respectively. Find the sum of n terms

of this G.P.

o Watch Video Solution

11. A geometric progression has common ratio
=3 and last term = 486. If the sum of its terms

is 728, find its first term.

o Watch Video Solution



https://dl.doubtnut.com/l/_UrxKzR2CIlbI
https://dl.doubtnut.com/l/_2Q2DqtSSXa7n
https://dl.doubtnut.com/l/_mlDLNAvhLJwO

12. Find the sum of G.P.: 3,612, ......... , 1536.

o Watch Video Solution

13. How many terms of the series
24+6+184 ... Must be taken to

make the sum equal to 728 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_jnOv2p3iLa9m
https://dl.doubtnut.com/l/_c9Qzrn5Yt012

14.1n a G.P, the ratio between the sum of first
three terms and that of the first six terms is
125: 152.

Find its common ratio.

° Watch Video Solution

15. How many terms of the G.P.

2 1 1

5, — E, 5, ........... must be added to
t th | t 0 ?

ge e sum equal to 7 !

° Watch Video Solution



https://dl.doubtnut.com/l/_sProgGmf9ZGU
https://dl.doubtnut.com/l/_TG8kOU6YoR1S

16. If the sum of
142402240 ... ..., .. + 2" 1is 255, find

the value of n.

o Watch Video Solution

17. Find the geometric mean between :

4 9
§andZ

o Watch Video Solution



https://dl.doubtnut.com/l/_TG8kOU6YoR1S
https://dl.doubtnut.com/l/_RF5NKHwC8gc0
https://dl.doubtnut.com/l/_rdDtxlrPQ37q
https://dl.doubtnut.com/l/_wm0nTUItQvUg

18. Find the geometric mean between :

14 and l
32

° Watch Video Solution

19. Find the geometric mean between :

2a and 8a°

o Watch Video Solution

39
20. The sum of three numbers in G.P. is 0

and their product is 1. Find the numbers.


https://dl.doubtnut.com/l/_wm0nTUItQvUg
https://dl.doubtnut.com/l/_Qr03CvAxxuNz
https://dl.doubtnut.com/l/_9dJD0xGzaqvC

° Watch Video Solution

21. The first term of a G.P. is — 3 and the square
of the second term is equal to its 4™ term.

Find its 7" term.

° Watch Video Solution

5
22.Find the 5 term of the G.P. 3 1.........

° Watch Video Solution



https://dl.doubtnut.com/l/_9dJD0xGzaqvC
https://dl.doubtnut.com/l/_y7gCDmJqlc47
https://dl.doubtnut.com/l/_ys5rjmciJVPh
https://dl.doubtnut.com/l/_7KtVomSAPZIv

23.The first two terms of a G.P. are 125 and 25
respectively. Find the 57 and the 6™ terms of

the G.P.

° Watch Video Solution

24. Find the sum of the sequence

——,1, —3,9,....... Upto 8 terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_7KtVomSAPZIv
https://dl.doubtnut.com/l/_UftmBSG5tioj

25. The first term of a G.P. in 27. If the 8" term

be 30 what will be the sum of 10 terms ?

° Watch Video Solution

26. Find a G.P. for which the sum of first two

terms is —4 and the fifth is 4 times the third

term.

° Watch Video Solution



https://dl.doubtnut.com/l/_eT37AFbB6XG0
https://dl.doubtnut.com/l/_YVWm3EF9KrqB

